

### **Tabulation Of Bids**

Event # : 130

Version: 10

Name: Fort Lauderdale Beach Park Parking Lot Improvements

**Description:** The Project's physical address is South Beach Parking Lot, 1100 Seabreeze Blvd, Fort Lauderdale, FL 33316, with its general location of the project being inside the parking lot located at 1100 Seabreeze Boulevard just south of Las Olas Boulevard in Fort Lauderdale, Florida. The work of this Contract comprises the construction of the infrastructure site work. The work will include but not be limited to site preparation, earthwork, asphalt pavement installation, pavement marking installation, signage installation, concrete curb, gutter, and sidewalk construction, landscape restoration, and irrigation, among other items quantified in the proposal pages of this ITB.

Open Date: 06/09/2023 11:00:00 AM

Close Date: 08/09/2023 02:00:00 PM

#### Event Currency: USD

Supplier		Bid Amount	
Tectonic Group International, LL	2	0.00	
P.O.Box 822606 Pembroke Pines	FL 33082		
* * Supplier die	not respond to all lines		
* * Supplier ha	responses with a no bid		
Sagaris Corp		559,712.00	
3660 NW 126th Unit 6 Coral Springs, F			
Florida Blacktop	Inc.	1,121,403.30	
1287 West Atlar Pompano Beach			

Items

# Item: MAINTENANCE OF TRAFFIC (M.O.T.)

Description: The lump sum price for this item shall be full compensation

Unit of LS Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	1.0000	20,000.0000000	20,000.00
Florida Blacktop, Inc.	1.0000	8,765.52000000	8,765.52

# Item: MOBILIZATION (10%)

Description: The lump sum price for this item shall be full compensation

Unit of LS Quantity: 1.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	1.0000	40,000.00000000	40,000.00
Florida Blacktop, Inc.	1.0000	76,238.19000000	76,238.19

### **Item: SITE PREPARATION**

Description: Measurement and payment for SITE PREPARATION will be based u

Unit of SY Quantity: 413.0000

141	ea	15	ur	e	•	

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	413.0000	30.0000000	12,390.00
Florida Blacktop, Inc.	413.0000	43.68000000	18,039.84

# Item: REMOVE EXISTING CONCRETE

September 5, 2023

CAM #23-0894 Exhibit 2 Page 2 of 21

#### Description: Contractor to perform REMOVAL OF EXISTING CONCRETE: This ite

Unit of SY	Quantity: 18.0000	
Measure:		

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	18.0000	50.0000000	900.00
Florida Blacktop, Inc.	18.0000	394.0000000	7,092.00

# Item: REMOVE AND DISPOSE OF EXISTING P

Description: Contractor to perform REMOVAL AND DISPOSAL OF EXISTING PAVER

Unit of SF Quantity: 2,244.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	2,244.0000	3.00000000	6,732.00
Florida Blacktop, Inc.	2,244.0000	3.16000000	7,091.04

### Item: LIMEROCK BASE

Description: Furnish and Install LIMEROCK BASE : This item includes all w

Unit of SY Quantity: 167.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	167.0000	50.0000000	8,350.00
Florida Blacktop, Inc.	167.0000	78.74000000	13,149.58

# Item: MILL EXISTING ASPHALT PAVEMENT

September 5, 2023

CAM #23-0894 Exhibit 2 Page 3 of 21

#### **Description:** Contractor to perform Milling of EXISTING ASPHALT PAVEMENT:

Unit of SY Quantity: 795.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	795.0000	10.0000000	7,950.00
Florida Blacktop, Inc.	795.0000	16.88000000	13,419.60

# Item: SUPERPAVE ASPHALT CONCRETE TYPE

Description: Furnish and Install SUPERPAVE ASPHALT CONCRETE TYPE SP-9.5 (

Unit of SY Quantity: 795.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	795.0000	30.0000000	23,850.00
Florida Blacktop, Inc.	795.0000	33.45000000	26,592.75

### Item: SUPERPAVE ASPHALT CONCRETE TYPE

Description: Furnish and Install SUPERPAVE ASPHALT CONCRETE TYPE SP-9.5 (

Unit of SY	Quantity: 167.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	167.0000	50.0000000	8,350.00
Florida Blacktop, Inc.	167.0000	144.78000000	24,178.26

# Item: STABILIZED SUBGRADE

September 5, 2023

CAM #23-0894 Exhibit 2 Page 4 of 21

#### **Description:** Furnish and Install STABILIZED SUBGRADE: This item includes

Unit of SY	Quantity: 390.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	390.0000	40.0000000	15,600.00
Florida Blacktop, Inc.	390.0000	8.5000000	3,315.00

## Item: CONCRETE FLUME

Description: Furnish and Install CONCRETE FLUME: This item includes all w

Unit of EA Quantity: 1.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	1.0000	1,500.0000000	1,500.00
Florida Blacktop, Inc.	1.0000	1,271.75000000	1,271.75

## Item: INSTALLATION OF COLORED CONCRETE

Description: Furnish and Install COLORED CONCRETE: This item includes all

Unit of SF	Quantity: 2,244.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	2,244.0000	35.0000000	78,540.00
Florida Blacktop, Inc.	2,244.0000	27.60000000	61,934.40

# Item: FURNISH AND INSTALL CONCRETE CUR

September 5, 2023

CAM #23-0894 Exhibit 2 Page 5 of 21

#### **Description:** Furnish and Install CONCRETE CURB, TYPE F: This item include

Unit of LF Quantity: 76.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	76.0000	60.0000000	4,560.00
Florida Blacktop, Inc.	76.0000	43.65000000	3,317.40

# Item: FURNISH AND INSTALL CONCRETE CUR

Description: Furnish and Install CONCRETE CURB, TYPE D: This item include

Unit of LF Quantity: 251.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	251.0000	45.0000000	11,295.00
Florida Blacktop, Inc.	251.0000	28.16000000	7,068.16

### Item: FURNISH AND INSTALL CONCRETE SID

Description: Furnish and Install CONCRETE SIDEWALK AND APRONS: This item

Unit of SY	Quantity: 17.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	17.0000	150.0000000	2,550.00
Florida Blacktop, Inc.	17.0000	139.56000000	2,372.52

# Item: FURNISH AND INSTALL DIRECTIONAL

September 5, 2023

CAM #23-0894 Exhibit 2 Page 6 of 21

#### **Description:** Furnish and Install DIRECTIONAL BORE CONDUITS: This item inc

Unit of LF Quantity: 50.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	50.0000	140.00000000	7,000.00
Florida Blacktop, Inc.	50.0000	243.85000000	12,192.50

# Item: FURNISH AND INSTALL THERMOPLASTI

Description: Furnish and Install THERMOPLASTIC, WHITE, SOLID, 18" FOR DIA

Unit of LF Quantity: 131.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	131.0000	7.0000000	917.00
Florida Blacktop, Inc.	131.0000	7.40000000	969.40

### Item: FURNISH AND INSTALL THERMOPLASTI

Description: Furnish and Install THERMOPLASTIC, WHITE, SOLID, 24" FOR STO

Unit of LF	Quantity: 45.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	45.0000	9.0000000	405.00
Florida Blacktop, Inc.	45.0000	10.36000000	466.20

# Item: FURNISH AND INSTALL THERMOPLASTI

September 5, 2023

CAM #23-0894 Exhibit 2 Page 7 of 21

#### **Description:** Furnish and Install THERMOPLASTIC, WHITE, MESSAGE OR SYMBOL:

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	3.0000	500.0000000	1,500.00
Florida Blacktop, Inc.	3.0000	296.11000000	888.33

# Item: FURNISH AND INSTALL THERMOPLASTI

Description: Furnish and Install THERMOPLASTIC, WHITE, ARROW: This item i

Unit of EA Quantity: 6.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	6.0000	200.0000000	1,200.00
Florida Blacktop, Inc.	6.0000	148.06000000	888.36

### Item: FURNISH AND INSTALL THERMOPLASTI

Description: Furnish and Install THERMOPLASTIC, YELLOW, SOLID, 18" FOR DI

Unit of LF Quantity: 95.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	95.0000	7.0000000	665.00
Florida Blacktop, Inc.	95.0000	7.4000000	703.00

# Item: FURNISH AND INSTALL THERMOPLASTI

September 5, 2023

CAM #23-0894 Exhibit 2 Page 8 of 21

#### Description: Furnish and Install THERMOPLASTIC, WHITE, SOLID, 6": This it

Unit of LF Quantity: 116.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	116.0000	2.0000000	232.00
Florida Blacktop, Inc.	116.0000	2.04000000	236.64

## Item: FURNISH AND INSTALL THERMOPLASTI

Description: Furnish andd Install THERMOPLASTIC, YELLOW, SOLID, 6": This

Unit of LF Quantity: 174.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	174.0000	2.0000000	348.00
Florida Blacktop, Inc.	174.0000	2.0400000	354.96

# Item: LIGHT POLE RELOCATION

### \* \* This line has been cancelled \* \*

Description: Contractor to perform RELOCATION OF LIGHT POLE: This item in

Unit of EA Measure: Quantity: 1.0000

# Item: GATE REPLACEMENT

Description: Contractor to perform GATE REPLACEMENT: This item includes a

Unit of LS Quantity: 1.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	1.0000	25,000.00000000	25,000.00
Florida Blacktop, Inc.	1.0000	21,221.63000000	21,221.63

### Item: FURNISH AND INSTALL REMOVABLE BO

Description: Furnish and Install REMOVABLE BOLLARDS: This item includes a

Unit of EA Measure:	<b>Quantity:</b> 9.0000	
------------------------	-------------------------	--

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	9.0000	1,500.0000000	13,500.00
Florida Blacktop, Inc.	9.0000	3,366.09000000	30,294.81

# Item: TREE RELOCATIONS

Description: Contractor to perform TREE RELOCATIONS: This item includes a

Unit of EA Quantity: 8.0000 Measure:

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	8.0000	2,500.00000000	20,000.00
Florida Blacktop, Inc.	8.0000	7,095.54000000	56,764.32

# Item: SILVER BUTTONWOOD (24" X 24")

**Description:** Furnish and Install SILVER BUTTONWOOD (24" X 24"): This item

Unit of EA Quantity: 271.0000 Measure:

CAM #23-0894 Exhibit 2 Page 10 of 21

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	271.0000	45.0000000	12,195.00
Florida Blacktop, Inc.	271.0000	112.91000000	30,598.61

# Item: GREEN ISLAND FICUS (15" X 15")

Description: Furnish and Install GREEN ISLAND FICUS (15" x 15"): This ite

Unit of EA	Quantity: 100.0000	
Measure:		

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	100.0000	40.0000000	4,000.00
Florida Blacktop, Inc.	100.0000	98.79000000	9,879.00

Item: IRRIGAT	ION	
Description: Furnish and	l Install IRRIGATION: This item includes all v	vork
Unit of EA Measure:	<b>Quantity:</b> 1.0000	

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	1.0000	15,000.00000000	15,000.00
Florida Blacktop, Inc.	1.0000	17,553.80000000	17,553.80

### Item: UTILITY MODIFICATION Description: UTILITY MODIFICATION: Measurement for payment to adjust exis Unit of EA Measure: Quantity: 2.0000

	Quantity	Unit Price	Extended Amount
Tectonic Group International, LLC (No bid)	0.0000	0.0000000	0.00
Sagaris Corp	2.0000	3,000.0000000	6,000.00
Florida Blacktop, Inc.	2.0000	2,543.50000000	5,087.00

# Item: DIRECTIONAL BORE CONDUIT

### \* \* This line has been cancelled \* \*

Description: DIRECTIONAL BORE CONDUIT

Long Item Furnish and install DIRECTIONAL BORE CONDUIT is the linear feet straight line horizontal distance of the bore Description: between locations indicated on the plans with no allowance for sweeps or vertical distance. No additional payment will be made for multiple runs of conduit within a trench or bore.

Unit of LF Measure: Quantity: 250.0000

## Item: PULL & SPLICE BOX, F&I, 13" X 24

### \* \* This line has been cancelled \* \*

Description: PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE

**Long Item** Furnish and Install PULL & SPLICE BOX, 13" x 24" COVER SIZE: This item includes all work and materials necessary **Description:** for a complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA Measure: Quantity: 5.0000

## Item: ELECTRICAL POWER SERVICE

### \* \* This line has been cancelled \* \*

Description: ELECTRICAL POWER SERVICE, UNDERGROUND and METER

**Long Item** Furnish and Install ELECTRICAL POWER SERVICE, UNDERGROUND and METER PURCHASED BY CONTRACTOR: This **Description:** item includes all work and materials necessary for a complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA Measure: Quantity: 2.0000

# Item: ELECTRICAL SERVICE DISCONNECT

\* \* This line has been cancelled \* \*

Description: ELECTRICAL SERVICE DISCONNECT, F&I, POLE MOUNT

**Long Item** Furnish and Install ELECTRICAL SERVICE DISCONNECT, POLE MOUNT: This item includes all work and materials **Description:** necessary for a complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA Quantity: 2.0000 Measure:

# Item: TRANSFORMER FURNISH & INSTALL

### \* \* This line has been cancelled \* \*

Description: ELECTRICAL POWER SERVICE- TRANSFORMER FURNISH & INSTALL

Long Item Furnish and Install ELECTRICAL POWER SERVICE- TRANSFORMER: This item includes all work and materials Description: necessary for a complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA Measure: Quantity: 4.0000

# Item: PRESTRESSED CONCRETE POLE

\* \* This line has been cancelled \* \*

Description: PRESTRESSED CONCRETE POLE, TYPE P-II SERVICE POLE

Long Item Furnish and Install PRESTRESSED CONCRETE POLE, TYPE P-II SERVICE POLE: This item includes all work and Description: materials necessary for a complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA Quantity: 2.0000 Measure:

## Item: LIGHTING CONDUCTORS

### \* \* This line has been cancelled \* \*

Description: LIGHTING CONDUCTORS, NO.1/0 - 3/0 (0 to 000)

**Long Item** Furnish and Install LIGHTING CONDUCTORS, NO.1/0 - 3/0 (0 to 000): This item includes all work and materials **Description:** necessary for a complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of LF Measure: Quantity: 298.0000

# Item: LIGHTING CONDUCTORS, NO.4/0 (000

September 5, 2023

CAM #23-0894 Exhibit 2 Page 13 of 21

### \* \* This line has been cancelled \* \*

Description: LIGHTING CONDUCTORS, NO.4/0 (0000) OR LARGER

**Long Item** Furnish and Install LIGHTING CONDUCTORS, NO.4/0 (0000) OR LARGER: This item includes all work and materials **Description:** necessary for a complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of LF Quantity: 894.0000 Measure:

# Item: LOAD CENTER, SECONDARY VOLTAGE:

### \* \* This line has been cancelled \* \*

Description: LOAD CENTER, SECONDARY VOLTAGE:

**Long Item** Furnish and Install LOAD CENTER, SECONDARY VOLTAGE: This item includes all work and materials necessary for a **Description:** complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA Measure: Quantity: 2.0000

### Item: #10 AWG COPPER WIRE

Description: #10 AWG COPPER WIRE

**Long Item** Furnish and Install #10 AWG COPPER WIRE: This item includes all work and materials necessary for a complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT Measure: Quantity: 264.0000

 Quantity
 Unit Price
 Extended Amount

 Sagaris Corp
 264.0000
 6.00000000
 1,584.00

 Florida Blacktop, Inc.
 264.0000
 6.36000000
 1,679.04

### Item: #6 AWG COPPER WIRE

**Description:** #6 AWG COPPER WIRE

**Long Item** Furnish and Install #6 AWG COPPER WIRE: This item includes all work and materials necessary for a complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

 Unit of FT
 Quantity: 1,473.0000

Measure:

September 5, 2023

CAM #23-0894 Exhibit 2 Page 14 of 21

	Quantity	Unit Price	Extended Amount
Sagaris Corp	1,473.0000	7.0000000	10,311.00
Florida Blacktop, Inc.	1,473.0000	10.17000000	14,980.41

### Item: #4 AWG COPPER WIRE

**Description:** #4 AWG COPPER WIRE

**Long Item** Furnish and Install #4 AWG COPPER WIRE: This item includes all work and materials necessary for a complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT	Quantity: 3,637.0000	
Measure:		

	Quantity	Unit Price	Extended Amount
Sagaris Corp	3,637.0000	10.0000000	36,370.00
Florida Blacktop, Inc.	3,637.0000	12.72000000	46,262.64

### Item: #3 AWG COPPER WIRE

Description: #3 AWG COPPER WIRE

**Long Item** Furnish and Install #3 AWG COPPER WIRE: This item includes all work and materials necessary for a complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT Measure: Quantity: 66.0000

	Quantity	Unit Price	Extended Amount
Sagaris Corp	66.0000	11.00000000	726.00
Florida Blacktop, Inc.	66.0000	15.26000000	1,007.16

### Item: #2 AWG COPPER WIRE

Description: #2 AWG COPPER WIRE

**Long Item** Furnish and Install #2 AWG COPPER WIRE: This item includes all work and materials necessary for a complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT Quantity: 232.0000 Measure:

September 5, 2023

	Quantity	Unit Price	Extended Amount
Sagaris Corp	232.0000	12.0000000	2,784.00
Florida Blacktop, Inc.	232.0000	17.8000000	4,129.60

### Item: #1 AWG COPPER WIRE

**Description:** #1 AWG COPPER WIRE

**Long Item** Furnish and Install #1 AWG COPPER WIRE: This item includes all work and materials necessary for a complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT	Quantity: 180.0000	
Measure:		

	Quantity	Unit Price	Extended Amount
Sagaris Corp	180.0000	15.0000000	2,700.00
Florida Blacktop, Inc.	180.0000	19.08000000	3,434.40

### Item: #1/0 AWG COPPER WIRE

Description: #1/0 AWG COPPER WIRE

**Long Item** Furnish and Install #1/0 AWG COPPER WIRE: This item includes all work and materials necessary for a complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT Measure: Quantity: 348.0000

<u></u>	Quantity	Unit Price	Extended Amount
Sagaris Corp	348.0000	18.0000000	6,264.00
Florida Blacktop, Inc.	348.0000	22.89000000	7,965.72

## Item: #3/0 AWG COPPER WIRE

Description: #3/0 AWG COPPER WIRE

**Long Item** Furnish and Install #3/0 AWG COPPER WIRE: This item includes all work and materials necessary for a complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT Quantity: 99.0000

Measure:

	Quantity	Unit Price	Extended Amount
Sagaris Corp	99.0000	20.0000000	1,980.00
Florida Blacktop, Inc.	99.0000	33.07000000	3,273.93

# Item: 1/2" PVC CONDUIT (SCHEDULE 40)

Description: 1/2" PVC CONDUIT (SCHEDULE 40)

**Long Item** Furnish and Install 1/2" PVC CONDUIT (SCHEDULE 40): This item includes all work and materials necessary for p **Description:** complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT	Quantity: 88.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Sagaris Corp	88.0000	35.0000000	3,080.00
Florida Blacktop, Inc.	88.0000	37.17000000	3,270.96

## Item: 1" PVC CONDUIT (SCHEDULE 40)

Description: 1" PVC CONDUIT (SCHEDULE 40)

**Long Item** Furnish and Install 1" PVC CONDUIT (SCHEDULE 40): This item includes all work and materials necessary for p **Description:** complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT Measure: Quantity: 775.0000

	Quantity	Unit Price	Extended Amount
Sagaris Corp	775.0000	36.0000000	27,900.00
Florida Blacktop, Inc.	775.0000	38.53000000	29,860.75

# Item: 1-1/2" PVC CONDUIT (SCHEDULE 40)

Description: 1-1/2" PVC CONDUIT (SCHEDULE 40)

**Long Item** Furnish and Install 1-1/2" PVC CONDUIT (SCHEDULE 40): This item includes all work and materials necessary for p **Description:** complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

 Unit of FT
 Quantity: 278.0000

Measure:

	Quantity	Unit Price	Extended Amount
Sagaris Corp	278.0000	38.00000000	10,564.00
Florida Blacktop, Inc.	278.0000	40.65000000	11,300.70

# Item: 2" PVC CONDUIT (SCHEDULE 40)

Description: 2" PVC CONDUIT (SCHEDULE 40)

**Long Item** Furnish and Install 2" PVC CONDUIT (SCHEDULE 40): This item includes all work and materials necessary for p **Description:** complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of FT	Quantity: 298.0000	
Measure:		

	Quantity	Unit Price	Extended Amount
Sagaris Corp	298.0000	40.0000000	11,920.00
Florida Blacktop, Inc.	298.0000	42.26000000	12,593.48

## Item: 120V WEATHERPROOF DUPLEX RECEPTA

Description: 120V WEATHERPROOF DUPLEX RECEPTACLES

Long Item Furnish and Install 120V WEATHERPROOF DUPLEX RECEPTACLES: This item includes all work and materials Description: necessary for w complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA	Quantity: 28.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Sagaris Corp	28.0000	250.0000000	7,000.00
Florida Blacktop, Inc.	28.0000	2,412.77000000	67,557.56

## Item: NEMA 4X ENCLOSURE

Description: NEMA 4X ENCLOSURE

**Long Item** Furnish and Install NEMA 4X ENCLOSURE: This item includes all work and materials necessary for 4 complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA	Quantity: 7.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Sagaris Corp	7.0000	3,800.0000000	26,600.00
Florida Blacktop, Inc.	7.0000	21,922.29000000	153,456.03

# Item: 20A RECEPTACLES

Description: 20A RECEPTACLES

**Long Item** Furnish and Install 20A RECEPTACLES: This item includes all work and materials necessary for r complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA	Quantity: 8.0000	
Measure:		

	Quantity	Unit Price	Extended Amount
Sagaris Corp	8.0000	250.0000000	2,000.00
Florida Blacktop, Inc.	8.0000	2,629.96000000	21,039.68

### Item: RV PEDESTALS

Description: RV PEDESTALS

**Long Item** Furnish and Install RV PEDESTALS: This item includes all work and materials necessary for p complete installation **Description:** in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA Measure: Quantity: 4.0000

	Quantity	Unit Price	Extended Amount
Sagaris Corp	4.0000	2,500.0000000	10,000.00
Florida Blacktop, Inc.	4.0000	24,775.48000000	99,101.92

## Item: 100AMP-2POLE BREAKER

Description: 100AMP-2POLE BREAKER

**Long Item** Furnish and Install 100AMP-2POLE BREAKER: This item includes all work and materials necessary for b complete **Description:** installation in accordance with the contract documents (plans, Specifications, standard plans, etc.).

Unit of EA Quantity: 5.0000

Measure:

	Quantity	Unit Price	Extended Amount
Sagaris Corp	5.0000	400.00000000	2,000.00
Florida Blacktop, Inc.	5.0000	792.17000000	3,960.85

### Item: 20AMP-1POLE BREAKER

**Description:** 20AMP-1POLE BREAKER

**Long Item** Furnish and Install 20AMP-1POLE BREAKER: This item includes all work and materials necessary for b complete **Description:** installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA	Quantity: 7.0000	
Measure:		

	Quantity	Unit Price	Extended Amount
Sagaris Corp	7.0000	200.0000000	1,400.00
Florida Blacktop, Inc.	7.0000	362.78000000	2,539.46

### Item: NEMA 4X PANELBOARD (200A 1P 30-S

Description: NEMA 4X PANELBOARD (200A 1P 30-SPACE PANEL) (400A 1P 30-SPAC

Long Item Furnish and Install NEMA 4X PANELBOARD (200A 1P 30-SPACE PANEL) (400A 1P 30-SPACE PANEL): This item Description: includes all work and materials necessary for 4 complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA Quantity: 2.0000 Measure:
---

	Quantity	Unit Price	Extended Amount
Sagaris Corp	2.0000	18,000.00000000	36,000.00
Florida Blacktop, Inc.	2.0000	46,617.15000000	93,234.30

# Item: NEMA 4X RATED DISCONNECT

Description: NEMA 4X RATED DISCONNECT

**Long Item** Furnish and Install NEMA 4X RATED DISCONNECT: This item includes all work and materials necessary for 4 **Description:** complete installation in accordance with the contract documents (plans, specifications, standard plans, etc.).

Unit of EA	Quantity: 2.0000
Measure:	

	Quantity	Unit Price	Extended Amount
Sagaris Corp	2.0000	4,000.0000000	8,000.00
Florida Blacktop, Inc.	2.0000	39,405.07000000	78,810.14